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1!120�§19 1µ k → 0 U� k →∞.

2!153�§113Kµ(Ø¥ ∞ U� +∞.

3!193�§114K£1¤µy = xex, U� y = (x2 + 2)ex.

4!1115�SK3.4¥§1�4K£�SK3.3���"

5!1118�~3.5.4 ¥ 0 < α > 1 U� 0 < α < 1.

6!1129�~3.5.9�)¥§φ U� ϕ.

7!1133�§½n3.32�^�/� f(x) 3 x0 ��� (x0 − δ, x0 + δ) S n ��

�0U�/� f(x) 3 x0 ��� (x0 − δ, x0 + δ) Sk n− 1 ��¼ê§3 x0 k n �

�ê0"½U�/3 x0 k�� n ��ê0"½n�y²¢Sþ�^�#�^�"

8!1138�~3.6.2�)�¥A�

cos2 x =
1

2
+

1

2

[
1− (2x)2

2!
+ · · ·+ (−1)n(2x)2n

(2n)!
+ o((2x)2n)

]
= 1− 2

2!
x2 + · · ·+ (−1)n

(2n)!
22n−1x2n + o(x2n), x→ 0

9!1141111K§^�U�/3x0 ?+�S n ��û�30"

10!1142�16K^� f(0) = f(1) = 0 U� f(0) = f(1)

112K^�U�/f(x) 3 x ≥ 0 ëY§3 x > 0 ����....../

11!1150�µ191µ/ë�SK 2.1118K0U�/ë�~1.3.40"

12!1162��ê121µu = x+
√
x2 + 1 U� u = ln(x+

√
x2 + 1)

13!1171��ê13 1úªU�

0 ≤
n∑

i=1

J(ξi)∆xi ≤ 2∆xk ≤ 2‖T‖,

14!1175�§�ê1510 < |x− x0| < δ U� |x− x0| < δ"

15!1190�§110K¥§x = c U� x = x0.

16!1191�§118K£3¤U�

lim
n→∞

(
1√
n2

+
1√

n2 + 12
+

1√
n2 + 22

+ · · ·+ 1√
n2 + (n− 1)2

)
;

1



17!1200�§15 1úªU�

n∑
i=1

ωi∆xi = S̄(T )− S (T ) ≤ S̄(T ′)− S (T ′) + 2ω‖T‖

=
∑
(1)

ωi∆xi +
∑
(2)

ωi∆xi + 2ω‖T‖.

18!1214�§110 1§×È©
∫ 1

0
1
xα dx �O\^� (α > 0).

19!1218�§SK5.4 ¥14KU�/�Oe�È©�Âñ50"

20!1235�§113K£1¤U�

y′′ =
y′

x
+
x3

y′
, y(1) = 0, y′(1) = 2.

21!1245�§�ê11 1µ/�A0U�/� 0"

22!1257�§�ê15 1/n ∈ N∗0U�/��ê n0"

23!1282�§110KÏ��¡SK­E§í�"

1295�§16K£5¤£6¤£7¤¥�È©CþU� t. 17K^� λ 6= −1 U�

−1 < λ ≤ 1.
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